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BA 1. [2F9] (15%) R*2] A 2
a=(1,22), b=(-1k6), c=(0,1,Fk)
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2. [FFF] (15%) R*S) 24 X(1) = (cosht,sinht,e!) (—o0 < t < o) 99 A (1,0,1)e]4 BEBAL
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AZS = o S} o] &

B =(1,0,1), C = (a,b,c)2} ¥3 O = (0,0,0)] tiste] F0]1 A HE
— 0B, c=0C = -8 A 248 w=gt} (1) |¢| = v2, (2)a-c=1,b-c =1, (3) det(a,b,c) > 0.
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A, B, C2 A% Fa7iA 0] Aels 7oA.
(c) [@d: 199] AT Gt odo] G 27 (107) (a x 2b) - (3a+4b + 50) 2 F514] 2.
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(a) (10%) L:R® — R? L(1,1,1) = (2,6), L(1,1,0) = (3,4), L(1,0,0) = (3,0).

(b) (108) L:R3> - R?, x — x x (£,0,0), t € R.
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BA 5. (208) R*S] A P(t) = (t,1%,0) (00 < t < 00)ol A FH 2% +y> + (2 —1)? = 19] FA]S Fsto] WS 294S
9 F0] Wk 4 F PO 7He B& Xk Sk 38 X(1) (—o0 <1 < 00) 919 F = (L1.VE-1)
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AZS = o S} o] &
A 6. (203) SFEE BIH 34
X(t) = (r(t),00t)),  r(t) =cost,  6(t)=sint, _g <t< g

ol distel thg 220l HaiAl 2.
(a) (104) t = 0014 ZEHE e} & EuHE T2ua FolA Q.

(b) (10d) Sz =Ml G99 HWolE AL,

(Eel)
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D SHH: o|=-
B4 9. (208) oFg 492 AZaA,
X(t) = (ﬂsith, —\/icos2t,t) . 0<t<or
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A4 10. (204) #HEFH 919 T4 X(¢)7F v &o] g ej= o] Al

X(t) = (3cost,sint), 0<t<a.

= X(0), Q = X(a)°l thef 2t ZPOQ7 T} 51 T e 2k grolehn @k o] Z4dof thate]
fley) = y9) AAEL FopA 0.




